

Rolle's Theorem Fails in 12 Author(s): Jesús Ferrer Source: The American Mathematical Monthly, Vol. 103, No. 2 (Feb., 1996), pp. 161-165 Published by: Mathematical Association of America Stable URL: <u>http://www.jstor.org/stable/2975112</u> Accessed: 16/03/2010 05:56

Your use of the JSTOR archive indicates your acceptance of JSTOR's Terms and Conditions of Use, available at http://www.jstor.org/page/info/about/policies/terms.jsp. JSTOR's Terms and Conditions of Use provides, in part, that unless you have obtained prior permission, you may not download an entire issue of a journal or multiple copies of articles, and you may use content in the JSTOR archive only for your personal, non-commercial use.

Please contact the publisher regarding any further use of this work. Publisher contact information may be obtained at http://www.jstor.org/action/showPublisher?publisherCode=maa.

Each copy of any part of a JSTOR transmission must contain the same copyright notice that appears on the screen or printed page of such transmission.

JSTOR is a not-for-profit service that helps scholars, researchers, and students discover, use, and build upon a wide range of content in a trusted digital archive. We use information technology and tools to increase productivity and facilitate new forms of scholarship. For more information about JSTOR, please contact support@jstor.org.



Mathematical Association of America is collaborating with JSTOR to digitize, preserve and extend access to The American Mathematical Monthly.

REFERENCES

- 1. P. B. Bhattacharya, S. K. Jain and S. R. Nagpaul, *Basic Abstract Algebra*, Cambridge University Press, 1986.
- A. Caruth, Unified proofs of Hilbert's basis theorem and its analogue in formal power series rings, Math. Proc. Cambridge Phil. Soc., 101 (1987), p. 207.
- 3. D. Hilbert, Ueber die theorie der algebraischen formen, Math. Ann. 36 (1890), pp. 473-534.
- 4. N. Jacobson, Basic Algebra II, 2nd ed., W. H. Freeman and Co., 1989.
- 5. S. Lang, Algebra, 3rd ed., Addison-Wesley Pub. Co., 1993.
- 6. O. Zariski and P. Samuel, Commutative algebra, vol. 1, D. Van Nostrand, Princeton, 1958.

School of Mathematical Studies University of Portsmouth Portsmouth, PO1 2EG England

Rolle's Theorem Fails in l_2

Jesús Ferrer

In [1, Theorems 1 and 2] two multidimensional versions of Rolle's theorem are given which have the classical one-dimensional result as a particular case. Simplifying their statements and notation, let B, U and S denote the closed unit ball, open unit ball and unit sphere, respectively, of \mathbb{R}^n . We reproduce the results before mentioned.

Theorem 1. Let $f: B \to \mathbb{R}^p$ be a continuous function differentiable in U. Assume there is a vector $v \in \mathbb{R}^p$ such that $\langle v, f(x) \rangle = 0$, for every $x \in S$. Then there is a vector $x_0 \in U$ such that $\langle v, f'(x_0)u \rangle = 0$, for all $u \in \mathbb{R}^n$.

Theorem 2. Let f be as before. Let $v \in \mathbb{R}^p$ and $z \in U$ be such that $\langle v, f(x) - f(z) \rangle$ does not change sign in S. Then there is a vector $x_0 \in U$ such that $\langle v, f'(x_0)u \rangle = 0$, for all $u \in \mathbb{R}^n$.

The paper ends with the conjecture that both theorems should not hold for infinite-dimensional domains. We prove the conjecture to be correct by means of an example of a real valued function f defined in the Hilbert space l_2 of square-summable real sequences such that it is continuous and differentiable in every point of l_2 , $f_{|S|} = 0$ but $f'(x) \neq 0$ for every $x \in U$. Clearly, from now on B, U and S will refer to the closed unit ball, open unit ball and unit sphere, respectively, of l_2 . We use $\langle \cdot, \cdot \rangle$ to denote the usual inner product of l_2 .

The Example. Let L and R denote the continuous linear operators in l_2 given by, if $x = (x_1, x_2, x_3, ...)$,

$$Lx = (x_2, x_3, x_4, \dots),$$

$$Rx = (0, x_1, x_2, x_3, \dots).$$

Let T be the map (clearly motivated by [1, Example 1]) $T: l_2 \rightarrow l_2$ defined as

$$T(x) = (1/2 - ||x||^2)e_1 + Rx.$$

Finally, consider the function $f: l_2 \to \mathbb{R}$ such that

$$f(x) = \frac{1 - \|x\|^2}{\|x - T(x)\|^2}.$$

Since the map T has no fixed points, it follows that f is continuous in l_2 and f(x) = 0 for every $x \in S$. We show next that f is differentiable in every point of l_2 .

Identifying in the usual fashion l_2 with its dual, we know that the Fréchet derivative of $||x||^2$ is given by 2x. So, we have that the mapping T is differentiable at x and, for each $u \in l_2$,

$$T'(x)u = -2\langle x, u\rangle e_1 + Ru.$$

Hence, we have that the derivative of $||x - T(x)||^2$ is given by the functional

$$u \rightarrow 2\langle x - T(x), u - T'(x)u \rangle.$$

Now since $||x - T(x)||^2$ never vanishes, the derivative of a quotient tells us that f is Fréchet differentiable at every $x \in l_2$ and, for each $u \in l_2$, we have

$$f'(x)u = \frac{1}{\|x - T(x)\|^4} \times \left[-2\|x - T(x)\|^2 \langle x, u \rangle - 2(1 - \|x\|^2) \langle x - T(x), u - T'(x)u \rangle\right].$$

But, since $\langle T(x), e_1 \rangle = 1/2 - ||x||^2$ and noticing that $\langle x, Ru \rangle = \langle Lx, u \rangle$, LT(x) = x, it follows that

$$\langle x - T(x), u - T'(x)u \rangle$$

= $\langle x - T(x), u \rangle$ + 2 $\langle x, u \rangle x_1 - 2 \langle x, u \rangle (1/2 - ||x||^2) - \langle x - T(x), Ru \rangle$
= $\langle x - T(x) + 2x_1x - (1 - 2||x||^2)x - L(x - T(x)), u \rangle$
= $\langle (1 + 2x_1 + 2||x||^2)x - T(x) - Lx, u \rangle.$

Therefore, the value of f'(x)u is given by the expression

$$\frac{-2}{\|x - T(x)\|^4} \times \left(\|x - T(x)\|^2 + (1 - \|x\|^2)(1 + 2x_1 + 2\|x\|^2) \right) x - (1 - \|x\|^2)(Lx + T(x)), u \right).$$

That is,
$$f'(x) = \frac{-2}{-2}$$

$$f'(x) = \frac{1}{\|x - T(x)\|^4} \times \left[\left(\|x - T(x)\|^2 + (1 - \|x\|^2) (1 + 2x_1 + 2\|x\|^2) \right) x - (1 - \|x\|^2) (Lx + T(x)) \right].$$

We show that the equation f'(x) = 0 has no solution in U. Assume that f'(x) = 0, ||x|| < 1. Then, if we call

$$s = \frac{\|x - T(x)\|^2}{1 - \|x\|^2} + 1 + 2x_1 + 2\|x\|^2,$$
(1)

it follows that

$$Lx+T(x)=sx,$$

and

$$L^2x - sLx + x = 0.$$

That is, $x \in \text{Ker}(L^2 - sL + I)$ is a recurrent sequence of order two in l_2 . The associated characteristic equation for this type of sequence is

$$t^2 - st + 1 = 0,$$

which gives us three different alternatives according to the sign of its discriminant.

Case 1. |s| = 2. Then we know that the sequences

$$u = (1, s/2, (s/2)^2, (s/2)^3, \dots); \quad v = (0, s/2, 2(s/2)^2, 3(s/2)^3, \dots)$$

are basic elements of $\text{Ker}(L^2 - sL + I)$. Thus, x = Au + Bv, for some real numbers A, B. So, for each $n \ge 1$,

$$x_n = A(s/2)^{n-1} + B(n-1)(s/2)^{n-1},$$

and, since $\lim_{n \to \infty} x_n = 0$, we have that A = B = 0, i.e., x = 0. But this cannot be so, since

$$f'(0) = 16e_1.$$

Case 2. |s| < 2. Then the characteristic equation has two complex roots given by

 $\alpha = \cos \theta + i \sin \theta$, $\beta = \cos \theta - i \sin \theta$, $\sin \theta \neq 0$.

Then, we know that there are complex constants A, B for which

$$x_n = A(\cos \theta + i \sin \theta)^{n-1} + B(\cos \theta + i \sin \theta)^{n-1}, \quad n \ge 1,$$

and, for suitable real constants C, D

$$x_n = C\cos(n-1)\theta + D\sin(n-1)\theta, \quad n \ge 1.$$

But sin $\theta \neq 0$ implies that the former sequence has no limit, unless C = D = 0, i.e., x = 0, again a contradiction.

Case 3. |s| > 2. We then have two real roots

$$\alpha = \frac{s + \sqrt{s^2 - 4}}{2}, \quad \beta = \frac{s - \sqrt{s^2 - 4}}{2}.$$

Clearly, one of these roots has absolute value greater than one and the other less than one. Assume that

$$|\alpha| > 1, |\beta| < 1.$$

Since

$$x_n = A \alpha^{n-1} + B \beta^{n-1}, \quad n \ge 1,$$

it follows that A = 0 and

$$x_n = x_1 \beta^{n-1}, \quad n \ge 1.$$

Thus, x is the geometric progression

$$(x_1, x_1 \beta, x_1 \beta^2, x_1 \beta^3, \dots),$$
$$\|x\|^2 = \frac{x_1^2}{1 - \beta^2}, \quad \|x - T(x)\|^2 = \left(x_1 + \frac{x_1^2}{1 - \beta^2} - \frac{1}{2}\right)^2 + \frac{x_1^2(1 - \beta)}{1 + \beta}.$$

From sx = T(x) + Lx, we have

$$x_1^2 + \frac{1-\beta^2}{\beta}x_1 - \frac{1}{2}(1-\beta^2) = 0,$$
 (2)

and

$$||x - T(x)||^2 = \frac{x_1^2(1 - \beta)}{\beta^2(1 + \beta)}.$$

Hence, substituting in (1),

$$\beta + \frac{1}{\beta} = s = \frac{x_1^2(1-\beta)}{\beta^2(1+\beta)} \cdot \frac{1-\beta^2}{1-\beta^2-x_1^2} + 1 + 2x_1 + 2\frac{x_1^2}{1-\beta^2},$$

which yields

$$1 = (\beta - 2x_1) \left(1 + \frac{(1 - \beta^2)(1 - \beta)}{2\beta^2(1 - x_1^2 - \beta^2)} \right).$$
(3)

From (2), we consider two subcases:

(3.1)
$$x_1 = \frac{-1 + \beta^2 - \sqrt{1 - \beta^4}}{2\beta}$$

From (3), since ||x|| < 1 implies $x_1^2 + \beta^2 < 1$, we have that $0 < \beta - 2x_1 < 1$. Therefore, $0 < (1 + \sqrt{1 - \beta^4})/\beta < 1$. A contradiction, since $|\beta| < 1$.

(3.2)
$$x_1 = \frac{-1 + \beta^2 + \sqrt{1 - \beta^4}}{2\beta}$$

Noticing that

$$1 - x_1^2 - \beta^2 = \frac{1}{2\beta} (1 - \beta^2) (\beta + 2x_1),$$

it follows after (3) that

$$1 = \frac{1}{\beta} \left(1 - \sqrt{1 - \beta^4} \right) \frac{2\beta^2 - \beta + \sqrt{1 - \beta^4}}{2\beta^2 - 1 + \sqrt{1 - \beta^4}},$$

$$\beta \left(2\beta^2 - 1 + \sqrt{1 - \beta^4} \right) = \left(1 - \sqrt{1 - \beta^4} \right) \left(2\beta^2 - \beta + \sqrt{1 - \beta^4} \right)$$

$$2\beta^3 = \left(1 - \sqrt{1 - \beta^4} \right) \left(2\beta^2 + \sqrt{1 - \beta^4} \right)$$

$$2 \left(1 + \sqrt{1 - \beta^4} \right) = \beta \left(2\beta^2 + \sqrt{1 - \beta^4} \right)$$

$$2 \left(1 - \beta^3 \right) = (\beta - 2)\sqrt{1 - \beta^4}.$$

This last expression is a contradiction.

164

REFERENCE

1. M. Furi, and M. Martelli, A Multidimensional Version of Rolle's Theorem. Am. Math. Monthly, 102 (1995), 243-249.

Departamento de Análisis Matemático Universidad de Valencia Dr. Moliner, 50 46100 Burjasot (Valencia) Spain

> We have heard much about the poetry of mathematics, but very little of it has as yet been sung. The ancients had a juster notion of their poetic value than we. The most distinct and beautiful statements of any truth must take at last the mathematical form. We might so simplify the rules of moral philosophy, as well as of arithmetic, that one formula would express them both.

> > -H. D. Thoreau